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Java

1 public class PatientInfo {

2 public static void main(String[] args) {

3 /] BEERER

4 String patientName = "#H=";

5 int patientAge = 35;

6 double temperaturel = 36.5;

7 double temperature2 = 37.2;

8 double temperature3 = 36.8;

9
10 /1 TREHER

11 double averageTemperature = (temperaturel + temperature2 + tem

perature3) / 3;

12

13 /] wHEEER

14 System.out.println("EEHE: " + patientName);

15 System.out.println("$8&EFEHE: " + patientAge + "%");
16 System.out.println("¥39fE: " + averageTemperature + "°C");
17

18 / 1HRERAL NI F

19 /11—
20 double number = 3.1415926;
21
22 DecimalFormat df = new DecimalFormat("#.00");
23 String formattedNumber = df.format(number);
24 double result = Double.parseDouble(formattedNumber);
25
26 System.out.println(result); // Hiti: 3.14
27
28 /11—
29 double number2 = 3.1415926;
30

31 String formattedNumber2 = String.format("%.2f", number2);
32 double result2 = Double.parseDouble(formattedNumber2);
33

34 System.out.println(result2); // %Et: 3.14

35

36 II=

37 double number3 = 3.1415926;

38

39 double result3 = Math.round(number3 * 100.0) / 100.0;
40

41 System.out.println(result3); // %it: 3.14



42

43 / /4

44 double number4 = 3.1415926;

45

46 BigDecimal bd = new BigDecimal (number4);
47 bd = bd.setScale(2, RoundingMode.HALF_UP);
48 double result4 = bd.doubleValue();

49

50 System.out.println(result4); // %t: 3.14
51 }

52 }
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Java
import java.util.Scanner;

1
2
3 public class TemperatureCheck {

4 public static void main(String[] args) {

5 Scanner scanner = new Scanner(System.in);
6
7
8
9

/] RMANBEEER
System.out.print("ERWAZBEERER: "),
double temperature = scanner.nextDouble();
10
11 /1 FIREEERE
12 if (temperature >= 37.3) {
13 System.out.println("FEFRE, FERS! ");
14 } else {
15 System.out.println("{RIEE, THMREE. ");
16 }
17 }
18 }
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o2 Scanner scanner = new Scanner(System.in); %
>
2
/7
System.out.print ("iFHi A FRE: )] E,
double temperature = scanner.nextDouble(); z
3
/" 7 g
if (temperature >= 37.3) { 5
System.out.println (" kil 5, Gukie: ");
} else { ©
System.out.printin ("l i, Lk, "); g
5
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Java
1
2
3
4
5
6
7
8
9

10

public class PatientQueue {
public static void main(String[] args) {

int queueNumber = 1;
int maxQueue = 10;

/1 RIEBERNES

while (queueNumber <= maxQueue) {

System.out.println("HFESEERS: " + queueNumber);

queueNumber++;

}
System.out.println("%
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int queueNumber = 1;
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while (queueNumber <= maxQueue) {
System.out.printin(" i+t 8 ¢4 5 " + queueNumber);
queueNumber++;
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Java

1 public class PatientlList {

2 public static void main(String[] args) {

3 /] BEUZTIR

4 String[] patients = {"E&E", "=RKR", "EXF", "BARE"};
5

6 /1 BHFREHEEER

7 System.out.println("$HMIZEEIIR:");

8 for (String patient : patients) {

9 System.out.println("&E&E: " + patient);
10 }
11 }
12 }
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Java

1 import java.util.Scanner;
2
3 public class PatientTriage {
4 public static void main(String[] args) {
5 Scanner scanner = new Scanner(System.in);
6
7 /1 WMNEBEER
8 System.out.println("IFRAEBEER (KA. 2R XFE) "),
9 String symptom = scanner.next();
10
11 /1 TRABFER 12
12 switch (symptom) {
13 case "KR#A":
14 System.out.println( "EFEARI T2, ") ;
15 break;
16 case "EZBR":
17 System.out.println( "JFFIFEMEREIZ. ") ;
18 break;
19 case "3kiE":
20 System.out.println( "EaIFHERIFHIZ, ") ;
21 break;
22 default:
23 System.out.println("fEKFREA, BRIF2IZHEMIZ, ") ;
24 }
25 }

26 }
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5 g
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i Scanner scanner = new Scanner(System.in); *
>
% =
7 (
System.out.printin("iFH ANE AR CRM. o, D @ ") E,
String symptom = scanner.next(); z
B
/’/’ i (V7 g
switch (symptom) { El
case "R
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break; g
2
case "IZE": 2
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